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A ttend 4)
s 10 plus

| 8 agree to neither give nor receive any help on this
exam from others. I understand that the use of a calculator or communication device on
this exam is academic misconduct. I also understand that providing answers to questions
on this exam to other students is academic misconduct, as is taking or receiving answers
to questions on this exam from other students. Thus, I will cover my answers and not
expose my answers to other students. It is important to me to be a person of integrity and
that means ALL ANSWERS on this exam are my answers. Any violation of these

guidelines will result in a penalty of at least receiving a zero on this exam.

Signed

Binary Choice (worth 2 peints each)

1) Alice is in charge of the statistics bureau in the small nation of Wonderland, and part
of her job is computing GDP for Wonderland. Until this year, Wonderland had a

Gifaceo w’f“‘f closed economy for widgets with a domestic price of $5 per widget. This year,

=) Sl

%‘”ﬁix{

zatiin
b
Gee M#‘w on

o

o8

however, Wonderland entered the international market for widgets, where the world
price of widgets is $2. Given this information, what can Alice expect to happen to
Wonderland’s nominal GDP this year relative to last year's nominal GDP in
Wonderland? Assume production in all other markets is unaffected by this change.

Stnee Loy € tored 2 pfhasn A

@ Nominal GDP will decrease. fppens Lot (et proolicce.
. Nominal GDP will increase. 4:, . M L beTs Py C? o
e 60/)(}

2) 1,000,000 people live and work in Someland. Of these 1660 000 people, half are
citizens of Someland. Additionally, there are 10,000 citizens of Someland, who live
and work overseas in Finland. All residents and citizens of Someland produce
$20,000 of output per year per person. Given this information, what can we say

about the relationship of Someland's GDP to Someland's GNP? Someland t GAP
500,000 [dnik Gowcllend
Someland's GDP will be higher than Someland's GNP. #0007 e bV clipedlie
b. Someland's GDP will be lower than Someland's GNP. 478,000
X 20,000
16200000008 & ;GNP
3) “Investing in early childhood education will have positive effects on the c};ﬂd s

future income.” This is an example of a statement. ; bnds D /j .

/mooo

‘a) Positive (s 4o o Shed y
. X lo 600
. Normative
"Vﬁmz?"'&(it (L&M? é%;q #/
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ly/{h ,f;ﬁm»p 4) If we want to find the market demand curve for a private good, should we vertically

sum or horizontally sum the individual demand curves?
_____,——-—-———!'

a. Vertically sum

@Horizontally sum
MM A buug 5) A researcher collects data on real GDP and the CPI for each US state for the year
2014 We say that she has collected data.

@ Cross-sectional - M%LM&?LM/&WWL AVis

. Time-series

7;1 deteimmanc ) Suppose that a researcher at UW has shown that lettuce is healthier than previously
a believed, leading consumers to develop a stronger preference for lettuce. At the same

time the drought in California has resulted in reductions in lettuce producnog/ 8,
Holding everything else constant, we can conclude that: f LAt s & ’?,/ F ‘F
P A e
a. The equilibrium price of lettuce is indeterminate. h Dy
@Tbe equilibrium quantity of lettuce is indeterminate. l i :“D ’
@,
Fr = ¢ 7) Suppose when operating efficiently, a furniture factory can produce 5 tables and 10 Q :

: chairs, or it can produce 8 tables and 4 chairs. Assuming constant opportunity cost, is
«;7% _,> it feasible for the factory to produce 3 tables and 16 chairs?

% a. Yes. This production combination is feasible.
No. This production combination is not feasible.
I ?l(/'/za_t?{’ya @

/wrﬁh—dy?f CM’?L{’ N\ (3 IQ’) Wit ﬁ 7{”]'
(o - L Vs B

¢ L1 f e )/em,cf{
S = =27+
@5’ g THe m&,bW/ow?‘%/W@
C7,c)=0(5 57 1) (%,
[p= ~2(5)*T
Bie = 4
[C= 20-2T]
sif T=3 = C=/7
e (7 /é) is /\/a/ Fran e

\Q
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Use the following information for the next two (2) questions:

Robinson Crusoe works 8 hours a day. It takes him 2 hours to collect one coconut and 4
hours to catch a fish. His friend, Friday, works 12 hours a day. Friday needs 1.5 hours to
collect a coconut and 2 hours to catch a fish. Assume that both Robinson Crusoe and
Friday each have constant opportunity costs.

J— M cu#v/c 8) Given the above information, who has the comparative advantage in catching fish?
hew - bt
ﬁ How e a. Robinson Crusoe

Clasqrorm @Fﬁday

-~ 9) Suppose that Robinson Crusoe decides to work 12 hours a day as well. Now given

]ﬁ/m tondta

ok e this new information, who has the comparative advantage in collecting coconuts?
Cﬁzﬂ %ﬁ/ Thes (@ Robinson Crusoe
b2 & L7 b. Frida
5a,r7 4 Leaiben’ ¢
' : y
& Brtanjon Crusee ¥ ]-'CA}J@;? 1.5 )1%0,
t 5"
v
@P Bhoves ¢ 2 howrs
‘ 4
‘7( 1 ) C/r/" B ’1__5
{1 —
T — ‘ — ¢ :
7 il , ol

0L [ Fa 2 C L) IFS V3 C
Lo

I?xh,burj
G|
g | Balh PFs hane
{WW'T)O-C-
Ao ot A L7

e PPFay 12 hows
PFF“'-‘/ ?AJU:*.F

Z 3 /lzfgk
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10) Use the following graph to answer this question. The graph shows a joint PPF for
Adam and Ben who both produce pencils and erasers.

Pencils ﬁ\

50

At

40

fen

s 70 -
Bz ot Al e
,j Suppose that when producing efficiently, Ben could at most produce 30 erasers.
Fre (™ Given this information and the above graph, who has the comparative advantage in

. producing erasers?

o }fc/'/ﬂ-e falron @ .

b. Ben

6 0f 20




(This page is intentionally left blank as an extra work sheet.)
DO NOT DETACH THIS SHEET FROM THIS EXAM BOOKLET!
EXAM CONTINUES ON NEXT PAGE

1) Melsonatd /3,0,,05“/&,;9
4 B=3-(AF p=5~4)F

C/Q/—/f

pac D

A «) O B, 2o >/},e#hw = tan 4

X b) 38, (6F =D P D we b cojprotuce S 6,12/

rotec O Burgers $ 2.2 [Fres

5ﬂ JOf D ¢ 'M i:) e [Chrs e “"/"’”“*f/%ﬁ/:
/

Aor. ‘V%,,,%;ﬂ@%{
V)75 ~>/W,¢L¢MB §, - ‘
O m\%‘“é”ﬁjfm?‘ﬂ F/% et fz‘g Liy)- @’%Z
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Multiple Choice (worth 4 points each)

75 11) McDonald’s and Burger King both make burgers (B) and Fries (F). Suppose they
ﬂ%
have the following PPFs: See /9r~6’Vr Duc /a.apc

afﬁﬂfc "‘L/”“ McDonald’s PPE: B =- (1/4) F+3

(an <€ Burger King's PPF:  B=-(1/2)F+5

iwin

Bas e (a ) Now, consider the joint PPF for McDonald’s and Burger King. Which of the

é ) I ) ,7, following combinations of burgers and fries is efficient if both firms work together?

e W/{ dent a. 0 burgers and 20 packets of fries =7/ L"‘jﬁ e
%d‘[o( ) = S b. 3 burgers and 10 packets of fries
A fI oo c. 5 burgers and 10 packets of fries
w it vy T @7 burgers and 4 packets of fries
Wawk

12) Both Casey and Dorothy produce erasers and pencils. It takes Casey 2 hours to make

?L@'W athlc,  one eraser and 1 hour to make one pencil. It takes Dorothy 3 hours to make either
f’zf [lows one eraser or one pencil. Now, imagine that Casey and Dorothy engage in trade with

(arfrosmm one another. The acceptable range of trading prices for one pencil in terms of erasers

,(45;;,,.776( e Jéhowr e iy Shours

I RNe+me-L i i e

a. Between 2/3 eraser and 1 eraser.
b. Between 1 eraser and 2 erasers. {,,,M},g % /MUJ 5
Between 1/2 eraser and 1 eraser

«y) i & 8 | Pee d E
d. Between 1/3 eraser and 2/3 eraser. Oc 42 ! f Ltéhgiﬂ&r /

~I{; 13) Pentos and Westeros are two nations that produce swords and silk. Pentos ana 7 #
Chafl a(—}&»:f / Westeros both have linear PPFs: at most, Pentos could produce a maximum of 300

) swords or 600 pieces of silk annually; Westeros could produce a maximum of 2000
Yets

pieces of silk annually, but it keeps a secret and does not reveal the maximum

- Jom< Jumber of swords it could produce.
de Yo ctiie As a spy from Pentos, you want to know the maximum number of swords
ftas iverp —  Westeros can produce annually. You notice that when Pentos and Westeros engage

Wee yone wedte  in trade, the acceptable range of trading prices for one sword is between 4/3 pieces of
Lol I 4 silk and 2 pieces of silk.
Given this information, the maximum number of swords Westeros can produce in

ear is:
e o o [entss fy’ Weoterost
a. 4000 swords. 5“51{ e (cjf' duchvt
b. 3000 swords. P L rtaf )
@ 1500 swords. 3 (2  suvds =500
d. 1000 swords.

- i /-'ffwzw}
- v illc OcC Q[S:/k._, £ Cunyd JQ‘_//————]
L{/}'rk 6¢ y / {WJM Lf’k (007/‘!“_;\;-’)‘4 /3?9//%
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(7223 $4D 14) The supply and demand for inline skates are represented by the following equations

g where P is the price per pair of inline skates and Q is the quantity of pairs of inline
ﬂ/7 skates. p - _ __L) d? ;
( )0+ 6o =360\
Supply: P = (1/10)*Q% + 60 (w —f—Gf—)@ = 30?

Demand: P =360 - (1/5)*QP

(g '

Given the above information and holding everything else constant, what 1s the

equilibrium price? = /000
- 364 -
a. $180 per pair of inline skates P = C )(/m)+é0 = /60
(B> $160 per pair of inline skates n .f’ooa) ¢
c. $210 per pair of inline skates P pLo0- C ) ( /6o

d. $1000 per pair of inline skates

ks

P
b P
P
P

a
b
©
d.

([

15) Sarah’s monthly demand for coffee is P = 6 - 1/4*Q. Sﬁe has trouble falling asleep,
% Given this information and holding everything else constant, her new demand for
coffee 1s: 6 Ped- ‘,L @
A/lu—‘ M el
0-(1/4)*Q
(3/10)*Q ¢
(1/4)*Q : \Lv Sy /n,,. 2 q/
- - . : . : e o wwr
ﬂ:y, 16) Kiril and Anna are the only consumers of mangoes in Slavia. Their demand curves
LHE wa'v/t /’ = 5 "{Z G(-)
wigd) 4, Kiril’s Demand: P=5-Q yy
A
mfwwf 4 p= (L)@t ¢
WZ’? Given the above information and holding everything else constant, which of the y» Afseso
r/fvzu, e a o I Ased
mr\i‘ ﬁw- . Q=8-(1NPK Theee ane ae«m Carve =2 Fo

so she decides to cut back her intake by 4 coffee drinks at every possible price.
D canve
1 * iﬁ_—_j= 2 j{” "
Te [@ =27~
5~ (1/4)*Q h) Mw},
2-
fe e ATE: @'=20-%P 4
(/ded Vhe 7 Anna’s Demand: 3P=9-Q y,mxf(,’i
e F YSV[ N fo]lo ing equations represents the market demand for mangoes in Slavia? (q) ,P) =(20,0)
M&ﬁ@ ¢ 7
(< )20 ¢
)éécnuh‘(ggﬁ) 3 Q=5-pv for3<P<5 /5'6'“ 0=("%)

AminZe ( c)dieth, Q=14-4P _ / for0<P<3 PeE= 50 T=5
) fe py - @ = - 5-(H)Q
o chaf wgga P=Q-5 V&mﬁ‘&’ﬂ"w 9 P 5
g prb ¢ P=(1/4)Q~(7/2) for0<P<3=> Wﬁ}d@_‘ B TR myrr e weone!
S| nepovkt «Xd p=5-QV for 0 <P <3y Wrems = 77,8 v T RE RN,
X d,»T»,w;ﬁ P=(7/2)-(1/14)Q (for3<P<5 fm e~ r@rg_
G > MK - =
N L £ Balan ~ 'CQ )C"’ f’<s
PN
&*Q 1 Dl(
T <@




M"’Hxﬂ&/ to 20147
/a(a( 3 o F
U ) To A Real GDP of Gruyovia
f?““t/; =3 : 18
227 27454jgfhjf 16
a7 : 14
w12
2 10
5 s
4
2
0 ey

i GDP

a. Real GDP decreased by 33.33%.
b.. Real GDP increased by 33.33%.
c./ Real GDP decreased by 25%.
d. Real GDP decreased by 20%.

\

2007 2008 2008 2010 2011

2012 2013

2014

17) The following graph represents real GDP for the dictatorship of Gruyovia from 2007
to 2014 measured in billions of US dollars. What happened to real GDP from 2013

10 of 20
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18) The following graphs represent the market demand for avocados in Wisconsin. One  ¢/%7/=f
of these demand curves provides different information from the other three. Which A€kenve
graph provides different information?

Demand for Avocado 1
‘/ 1z
=
o
o
3
(]
&
a
o
£
Quantity {avocados) 240 /
Demand for Avocado 3
1
=
| =
8
[#]
=]
@
[=%
k
o
o
Cuantity (dozen avocados) 20"
n
x5 a. Demand for avocado 1
U"'A ,,fr (B) Demand for avocado 2
\zg Gf” M &Y Demand for avocado 3
) d. Demand for avocado 4
0 7

y’;f@:gfgﬂ\
‘b%‘,("
_Lj,va

‘_-—‘-.
Demand for Avocado 2 Fas, ¥
% ;
emand for Avocado /M %rcw?/%
£
A /A{mu%
7 4
z Awm 2
m ]
8¢ “
a e
2 o B
£ g _ Bijfereid
Ouantity [dozen avocados] -
: ‘/ Dremand farAvocado#
240
"g"‘
=
8
B
2
kel
£
=
g
9 o
Price per avocado (5] = /
AY0 gyecadev =T 20
ﬂy\gg_d—g{tﬁt—s

0 W‘ik&%’f "

4 /2 farsads D Hul wronld

e ﬁ/f’ﬁ/dﬁh avrza o 3
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19) The White Witch is the somewhat unscrupulous leader of Narnia. In order to
ou could convince people that her economic policies are working, she provides the following

Agal m/mr- GDP data:

way A The- .

5P N,,.Qoph.r'//;‘y’ [5%0 Real GDP... ...using Base Year

&0 fo/‘ﬁ" 2012 $1,000,000 1980
M /G50 =403 2013 $1,100,000 1980
GIr Jeﬁﬂ‘w 2014 $9,000,000 2014
A 2ot =90

> e g ! Being a well-educated citizen of Narnia, Tumnus realizes something is amiss with
i y the data, because the base year would normally not change. Searching his data tables,
IreLsne he finds that the GDP deflator for 2014 using a base year of 1980 was 900 (th
zﬁfyw- /980 > factor is 100). Given this information, which of the following statements is@ R
] ,
;,z /‘{ S WAL a. Nominal GDP in 2014 was $9,000,000777iee.
ﬂu/ Je b. When using the base year of 1980, real GDP decreased between 2013 and
! 2014. Trie l,0g0,002 vy (,08¢, 000 ‘
¢/ Price levels etween 1980 and 2014. Pe (ewels hccased 5ok

d. When using the base year of 1980, Real GDP in 2012 equals Real GDP in & 97

) - 2014, Tr"a!— | #W/A
Jew  Gordfw/BY 1750
20l Y 4060
pel Gy, s = méﬂ@o,? = G oco o
h//ﬁ'y_ara/?’
(-‘Z‘V@‘) Nowm 6OPrpy B /u.,ééd/fd/y
T R
;v//?y/?‘?d / /V
(o) M”i} = el by
7/7 ) BY [ 560
(/0009*))(@00) = M«'ééﬂ/wfy
C/5Y ik
/ 000,000 = neal GAPer¥
o~ £

R
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(00
(4%
Use the following information for the next two (2) questions:
' 30 [v @

. ; , fo '
Pirate Island is a small economy with a domestic market for cutlasses (ast;)pe of
sword) that can be described by the following equations where P is the price per
cutlass and Q is the quantity of cutlasses:

Domestic Demand: P=100-Q
Domestic Supply: P=Q

You are also told that the world price of cutlasses is $10 per cutlass.

141\'« 20) George is the king of Pirate Island, a small economy. Perhaps not unsurprisin ly for
P g
Al _ﬁﬂq% a Pirate King, George is rather corrupt, and wishes to enrich his friend Bob. To do
4 this secretly, George decides to enact a quota limit in the cutlass market (under th
Z % nJ f pretense of protecting domestic suppliers) and grant the import license to Bob. If

~ George wants Bob to eamn $800, the import quota should be equal to: -~ ﬁfi” /SQ//M:{ a Y
Liten be bro (der Nev = Feo . : ead ead
a. 20 units y ~ ~ %00
T - i /
40 units [/Z'“/z o J[ bl 46 Coo

Al =
¢. 60 units [% B /o][/ 7 2 0 aVhiert
d. 80 units D 4 "‘77”%/’”'@ = W?‘”" . 2 -
f geral® ] > ,
g & [/h»fnﬁjmﬁ_?? foo —/ /
N o7 §0 hosd ffZl) Unfortunately for George, the pirates of Pirate Island are surprisingly well-educated <2 fue 7 ez
suwndinlrnal in economic matters and realize that this import quota enriches Bob at the cost of Clee
nd - generating deadweight-loss. George doesn’t want to upset Bob, and thus doesn’t a ‘/_a__ ’a /
T want to eliminate the import quota, but also fears an uprising by the unhappy pirate 77,

ton C’//’?{—j citizens. Thus, he decides to change the import quota so that there is zero St
deadweight loss. Which of the following import quotas has zero deadweight loss? ot J y
7 ey

An import quota of: 02/0 +[/ijp“ﬁ] e Ly
a. 0 units
b, 50 units Ry t o ste = ,#-/0,;17% Go 1‘0/%?‘ /6
c... 60 units % ;:74*' X

77 ) 1 . At
((1//90un1ts Bw L = #)srpats m W”vé;ﬁ, $0 02T

ﬁ“ _Ju?  22) Which of the following four options has an opposite effect on the demand for good

}[ The X from the other three options? Assume that good X is a normal good.

/ ﬁgw @ an increase in the price of a substitute good in consumption
b. an increase in the price of a complement good in consumption
c. adecrease in income

d. achange in tastes against good X




23) How do deadweight loss and government revenue change as the level of an import
P )émﬁ»\'p tariff increases, assuming the tariff is effective?

" X

Yo W 1 a.  Both deadweight loss and government revenue increase as the size of the
1, tariff increases. A
Zie ef b. Deadweight loss increases, while government revenue initially decreases

v, M“?G\ﬂ--
by

and then increased as the size of the tariff increases.
@Deadwei ght loss increases, while government revemyuitially increases
and then declines as the size of the tariff increases.
d. Government revenue increases, while deadweight loss initially increases -
and then declineshas the size of the tariff increases.

Cal 4 i //7 .24) Suppose Alice, Bob, Charlie, and Sam can all produce coconuts and fish according

/[’ﬁ& to the following opportunity costs:

ah W ; pud Alice: 10 coconuts per fish ‘

59; Lt avnsard Bob: 5 coconuts per fish N
e Charlie: 1/10 of a fish per coconut /0 cocen “-5/ 4

dedwsts Sam: 1/5 of a fish per coconut 5 toeon T f""\ '

heat oiu\g ’
e If you were to graph the joint-PPF for these four individuals, how many "kink
’LF F/M 2w points" would the joint PPF have?

o see t Cladatian hane fome 0. C.
] kink point Alice C oy
b. 2 kink points wnd RC L Lo > paVhs A bbag
c. 3 kink points . \_/‘0,\,..# f’f’Fw/ PR AAWY B ,W?
d. 4 kink points

o /MWM =) L, ij /<f-'\"'/é ,09-“'?[

2) Do e gy Lt B
/).gga,/ﬁﬂﬁlf‘oﬂ?ﬁ»o(/(/[_

poofl | (et D Sl port e

: peee 1] J' sy rev [ /
F g;‘la” zlﬁmﬁ : M%«p—mﬁ%l&‘gﬂ"‘
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) Dom D - F=100-&
Do § 2 P=&

Y Lz = 40 _ [C[g] =
> L)),: Mnkﬂ 2o /fi‘j -
/£ YO = L0V -2/ [on[‘fo] ~ $dv 4
LP T 6o
L= 34
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25) England and Portugal are producers of woolen cloth (C) and wine (W). Assume that

’P‘ Zw b in a given year, England could produce the following combinations of cloth and wine
# when producing efficiently:

it
PPF Theo Units of Woolen Units of Wine
Cloth :
(s Shees] S/ sy 10 10
2 Some e Combination 2 20 0
f\‘ velved . . : :
Portugal, benefiting from a more pleasant climate, could produce the following
combinations:
Units of Woolen Units of Wine
Cloth '
Combination 1 10 20
Combination 2 5. 30

Assume both countries have constant opportunity costs of production for these two

goods. Lo Joncar PPFS

The joint PPF curve for England and Portugal is of the following shape:

Cloth }\
“0
¢ N C=-Wete P 2By
\, 0Cq) W=l C OCYIwWe ¥ ¢

do Zo }Wine C:CJE-)W-{_—@_

Given the above information, what is the function, or the equation, for the lower segment -
(labeled x in the graph) of the PPF? (Note: Wine is one the horizontal axis, and Cloth is
on the vertical axis)

Dc=60-W . :
c:40-w W#RMX
c. C=60-2W C=6G-w
d. C=40-2W .
e foneso QJ\/, C):_[éd/@)‘a %MQ(W
05'6_—60 ‘
60 = ¢

'Lg:éo—w_%wﬁlﬁf%m

20 = 4

C= 20~ TW




Use the following information for the next three (3) questions:

Suppose the market for lemons at the Capitol Square Farmer’s Market can be described by the
following demand and supply equations where P is the price of a lemon and Q is the quantity of
lemons.

Demand: Q = 10 - P =7 P =10-&

Supply: Q=3P -6 =5 dF = &f’fa
p= & F L
gM‘f ',S 4D 26) Calculate the equilibrium price and quantity for thi§ market.

a. P= $5f‘1<36 lemon and Q = 5 lemons
_ P = $4 ge(r lemon and Q = 6 lemons
T. P= $8Perlemon and Q = 2 lemons
d. P= $10 I%,r lemon and Q = 7 lemons

{ ,
a/y? . 27) Calculate the producer surplus and consumer surplus in this market.

Producer surplus = $6 and Consumer surplus = $18
b. Producer surplus = $36 and Consumer surplus = $6

c. Producer surplus = $14 and Consumer surplus = §24
d. Producer surplus = $24 and Consumer surplus = $6

=T

W ¢ Wy /5_ 28) Suppose the Madison City Council attempts to help farmers by setting a price floor of $7 per
fline =) plia S lemon in the market for lemons. What is the deadweight loss of such a policy?

‘“,,ﬁjo} :
el e ,
: c 3

Ch%ﬁ d'. $9 10
A) 10 -P=3P-L |
Y y !
Lf e cissiffCe e
Qi‘_j'rﬁlo ‘="> /erwﬂf-ﬁ (é'_) z
g(/ff /47'\.9!@ VLVM Jeere
Q=70-77> €

"‘zcg)—:j(él)"ﬁ A
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29) The US Census Bureau provides the following information on the share of household
income held by each quintile of the income distribution in the years 1993, 2003, and
2013.

Share of Total Household Income

% Top Quintile !
#4th Quintile |

7 3rd Quintile

“ 2nd Quintile

& Botlom
e e e Quintile

Which of the following statements about the income distribution 18 FALSE given the
information in the graph above? [,;w(‘N')

# OT he share of total income held by the middle 3 quintiles mcreased between
1993 and Ze13. Falew ]

X b. Income has become less concentrated at the bottom of the distribution (Lf_’lhj Ht? 2
% c. Income has become more concentrated at the top of the distribution.¢g 9 2 44. & S T
Y. d. The share of income held by the bottom two quintiles m 2003 was 12.1%. True
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